PHYSICS

FOR RAJASTHAN BOARD STUDENTS OF
CLASS 12 FOR PHYSICS

QUESTION PAPER 2017

2017

1. fag[d figdr &1 AP & (The unit of electric

intensity is) -


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RgRyHcvQetYo

A Nm 1
B.Vm !
1

C.dynecm

D.Vm 2

Answer: A

O A &

2. 3THU p dTe fopdl farefdie fge[a ol ARy faed
&9 E Pl feem I 90° I gfold axa # fosan s/

8P (An electric dipole of moment p is lying


https://dl.doubtnut.com/l/_RgRyHcvQetYo
https://dl.doubtnut.com/l/_CwPR7CKxLibj

along a uniform electric field E. The work done

in rotating the dipole by 90° is) -

Answer: C

O S &



https://dl.doubtnut.com/l/_CwPR7CKxLibj

3. off HemR oA gdes i emidr C g, Aofiepd |
38 € | 3P e emiRdl & | (Three capacitors,
each of capacitane C are connected in series.

Their equivalent capacitance will be) -

AC
3

0

o
| Qe

Answer: A



https://dl.doubtnut.com/l/_OyrtYQccaEkB
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4. 3519 a9 # qfg gl & a1 fdt aretsd &1 ufeRiy

(When temperature increases, the resistance
of a conductor) -

A. remains unchanged

B. increases

C. decreases

D. none of these

Answer: B

| s ]


https://dl.doubtnut.com/l/_OyrtYQccaEkB
https://dl.doubtnut.com/l/_DvoevfX1a7sn

| @ Jifs FR A

5.¢1 Acll DI f5ap1 fAed d18sd g1 F; 3R E, a2l
HARS UfcRIel BHT : rq 3R 7o 8, HAR HH A

SIET 31 € | Sl WA fAed g act gn |
(Two cells of emf E; and E, and internal
resistances r; and ry respectively are
connected in parallel. Equivalent emf of the

combination is-

A Eiry + Earq
r1+ T2

5. Eir1 + Earg
1+ T2



https://dl.doubtnut.com/l/_DvoevfX1a7sn
https://dl.doubtnut.com/l/_gITvl81K5llX

Eq + Es

D.E, + E,

Answer: A

O A&

6. 31T e dYT GHHM m Bl UP Feideld THRY

— o
fae[dig & E # s1feliel € | S9ehT @@ROT &1 (An
electron having charge e and mass m is
_>

moving in a uniform electric field E . Its

acceleration will be) -


https://dl.doubtnut.com/l/_gITvl81K5llX
https://dl.doubtnut.com/l/_eXBfHAzIJlQ8

Answer: C

Qaﬁ%ﬁ’rmaﬁ

7. L-R 99 bl ufdaren gidt € | (The impedance

of L-R circuit is) -



https://dl.doubtnut.com/l/_eXBfHAzIJlQ8
https://dl.doubtnut.com/l/_Gm8kfh7z7u5R

A R? + L2

B.vVR + wL

C.R + wL

D. \/R2 + W L

Answer: D

O S &

8. If¢ UAadl gRT dYT f9gd ded §c1 & o=
BAIR ¢ B ot 2AfH 0TI BT HH Il 8-


https://dl.doubtnut.com/l/_Gm8kfh7z7u5R
https://dl.doubtnut.com/l/_lwjtclTZ4yL1

A.tan ¢
B. cos ¢
C.sin¢

D. cos? ¢

Answer: B

O S &

9. fpdl 3Tl TRABIHY B WY vd fgdias
HUsel! § 9T I W& HHLT: NV, Ud N, €, da-


https://dl.doubtnut.com/l/_lwjtclTZ4yL1
https://dl.doubtnut.com/l/_91Yr766FrjqO

A.N; > N,

B.V, < IV,

C. N1 — N2

D.Nl :0

Answer: B

O S s &

10. fEd GaehIg a1 3 TTRoT & forem &relt 2 -

> , o
A. E & IR (parallel to E')


https://dl.doubtnut.com/l/_91Yr766FrjqO
https://dl.doubtnut.com/l/_By7cRpqcJelt

— , —
B.B %'@I‘Hﬁ'\’(parallel to B)

— = , — =
CB xFE %W(parallel toB x F)

- = , - =
D.E x B %'@Iﬂ]ﬂ'\’(parallel toE X B)

Answer: D

O dfa &

11. AT JHEISH H ey ggalii B 7w rs gl
g

A-fO _ fe


https://dl.doubtnut.com/l/_By7cRpqcJelt
https://dl.doubtnut.com/l/_bpNOsEVHl3RN

B‘fO X fe

C‘fO +.fe

fo
Je

Answer: C

O dfa &

12. AOIGH ) dTdd Bl &I Hall & (Energy of a

photon of wavelength A is) -

A. he)


https://dl.doubtnut.com/l/_bpNOsEVHl3RN
https://dl.doubtnut.com/l/_OUjp8HyAuEoV

Answer: B

O dfa &

13. B-PUT dsil A Tei+ died (B-particles are fast

moving)-

A. 3eiaei ¢ (electrons)


https://dl.doubtnut.com/l/_OUjp8HyAuEoV
https://dl.doubtnut.com/l/_b6AL3GvTwHyA

B. UI¢iF & (protons)

C.=IZM & (neutrons)

D.tI?I'c:F[%'(photons)

Answer: A

O dfa &

14. 579 p-n A R 307 AT ATIRIH fBam ST
¢, d9 I8 (When a forward bias is applied to a

p-n junction, it) -


https://dl.doubtnut.com/l/_b6AL3GvTwHyA
https://dl.doubtnut.com/l/_SGNZpWyleUd5

A.faug s S@IdT € (raises the potential

barrier)

B. 9gNIId dEd oRT B LT BN Il &
(reduces the majority carrier to zero)
C.fava Je/d & HH TN edl & (lowers the

potential barrier)

D. 378 I PIs Tal (none of these)

Answer: D

O ot s



https://dl.doubtnut.com/l/_SGNZpWyleUd5
https://dl.doubtnut.com/l/_6JJ0jgJF776Y

15. NAND 3¢ &I gferad &i5id & (The Boolean

expression for NAND gate is) -

AAA+B=Y

Answer: D

O A&



https://dl.doubtnut.com/l/_6JJ0jgJF776Y
https://dl.doubtnut.com/l/_DaZMSSU4QbfX

16. 37Td9N & FATUCHIGRUT & Agid & fog vd
JHSIU | (State and explain the principle of

quantisation of charge.)

O A&

17. B Ud I ggfd bl qRUTRT & |
(Define the terms magnetic permeability and

magnetic susceptibility.)

O A&



https://dl.doubtnut.com/l/_DaZMSSU4QbfX
https://dl.doubtnut.com/l/_2nlGgAkGUDla

18. CIIHIHR P IS WAGR ST 1T g TRT?

O dfa &

19. fAE[d-dahIT 1 o1 &2 faefd dahig al &
&1 30Tl &1 Joeied e |

O A &

20. UBIfAd I Pt faded Hidr vd faded aHdr &!

gRYNA &Y | (Define limit of resolution and


https://dl.doubtnut.com/l/_d1HajVGMfIKv
https://dl.doubtnut.com/l/_M3jZL3dWW1RF
https://dl.doubtnut.com/l/_VxgfNP5zIwfU

resolving power of an optical instrument.)

O &

21. ATAHY favgus &IT € ? U 3GI&R0T ¢ |

O &

22, TR I T & ? AP DI al FRPT B
3cvid &Y | (What is a solar cell ? Mention two

of its applications.)

O &



https://dl.doubtnut.com/l/_VxgfNP5zIwfU
https://dl.doubtnut.com/l/_gtxNXN27nLY9
https://dl.doubtnut.com/l/_FFYRjrx1FEsf

23, BT avn & Adl. e & Juur d o)

FAER &l [P ST & ?

O ra &

24. U 31afAa JAemRa & TfRd Hal &1 st urd

&Y | (Derive an expression for the energy

stored in a charged capacitor.)

O ra &



https://dl.doubtnut.com/l/_FFYRjrx1FEsf
https://dl.doubtnut.com/l/_nZSwBCZnp3xu
https://dl.doubtnut.com/l/_GWBxh2jBo9uX
https://dl.doubtnut.com/l/_S3T1f4ReXgka

25. Uh Tdd] &RT BT FHIB0T T = 20 sin 2007t
g1 &R & 3R, PR O vd pf-ATea-get o1 A
Al

O ra &

26. 519 U Id Y19l I feur feaft fOrsr A e
TR & | A 39 faguur S ST & | )i ? B @
f38qur & BRUT I 7 BT e qeaH el &

ST9fep &lel 391 BT FAdH | i ? (When a white
ray of light passes through a prism, it is

dispersed. Why ? Why does violet colour


https://dl.doubtnut.com/l/_S3T1f4ReXgka
https://dl.doubtnut.com/l/_GEuqJcDBuLjJ

deviates most, but red colour deviates least

while dispersed by a prism ?)

O ra &

27. 0% 3T A &) gaT § BIdA-g3T 20 cm g1 T’
&1 g H 29 W 3HPB! Blavw-gel 1 8Pf? (&dT-

®fd PH B 3ddHiB 1.5 3R FA-AHT PH &

i 1.33 &1)

O &



https://dl.doubtnut.com/l/_GEuqJcDBuLjJ
https://dl.doubtnut.com/l/_SE8cNTBZMc0z

28. UpIA fagd yuTd & FeH # BRI Bord, Sgell
3gfa 3R e fawa &1 aRumf¥a & | (with
reference to photoelectric effect define the
terms work function, threshold frequency and

stopping potential.)

O dfa &

29, 3 Tfgpaar wm g ? Fde N = Nye M &

A9 B, STel Ual &b A 31 § |

O dfd &



https://dl.doubtnut.com/l/_wvLhmtrrTOay
https://dl.doubtnut.com/l/_9Q45Ce6YPGG1

30. GRYY 3RW I Tl A Ueb guf 397 fEEHRY
& ®Y H p-n I SRS B SRS BT qui & |

(Describe with circuit diagram the working of a

p-n junction diode as a full wave rectifier.)

O da &

31. IAR-dT &b 31TI9TP dcd T ¢ ? Uh sl IR

ST &Y H AHSTU |

O A &



https://dl.doubtnut.com/l/_9Q45Ce6YPGG1
https://dl.doubtnut.com/l/_zOUfI0CQ5NIC
https://dl.doubtnut.com/l/_CV65IZglSAch

32. 911 AEé &1 An @1 ¢ ? feddt armard
gdThR PUSl & A W AT fosedt fdig W Jabia
& & felv F3lh Urd &Y | (What is Biot-Savart
Law ? Derive an expression for magnetic field
at a point on the axis of a current carrying

circular coil.)

O it s

33. Rgid Ifed ATsaeiici4 &l a-Tae a1 BrRifafd
DI qUIH &Y |

Y. |


https://dl.doubtnut.com/l/_UHvcT7dyzjye
https://dl.doubtnut.com/l/_Um37lO92KLCY

(¥ _dlls3l 3T o J

34. 379dTg 331 &l GRYIT PY Ud STHRI STh Ui
& | 319dTE 9T & fAgid T 3UAPT B gU 3NH &
fAIH 1 = B |

O dfa &

35. fagfdfia aivuy & fore fas<igio o fAaH! & ford |
g AT B ITIPT BN IUIPT N @lee- Aq b
et & feTu o1 gred o |

O dfa &



https://dl.doubtnut.com/l/_Um37lO92KLCY
https://dl.doubtnut.com/l/_unIfll3DXmpw
https://dl.doubtnut.com/l/_yQm3e3zfaZ32

36. Uh IYwh Jgraell # fooddt avd & ufafa fAmior
Y ATHifpd ¥ R 3 gRT g2Ifev | sl mae

T BT ol UTtd B

O dfa &

37. U120 & AfAdR0l 3R fdadd & 3 s o |
Udbel Y-8 gRT Y12l & fadd &l IReAT & |

(Distinguish  between interference and


https://dl.doubtnut.com/l/_yQm3e3zfaZ32
https://dl.doubtnut.com/l/_RX4m396e8WsJ
https://dl.doubtnut.com/l/_es2mrWEGAZzI

diffraction of light. Explain the diffraction of

light by a single slit.)

O A&



https://dl.doubtnut.com/l/_es2mrWEGAZzI

